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160,0008 * 128 1,920
Ogxs 1,310
—2MSE CCTV e E 1,310,000& 1,310
307 glz2tol & 133,200 128,600 4,600
02 M AHE X 64,500 65,000 A 500
ogsE2sd Zada N 64,500,000& 64,500
04 QIZFHALAIR B = 65,000 60,000 5,000
O&4d oI AMSU3 XA 65,000,000 65,000
06 283 3,700 3,600 100
OxMStal Y 2= 1,850,0008 » 23] 3,700
401 AIEHI L 2 CHYI 1,350 8,000 A 6,650
01 A& HI 1,350 8,000 A 6,650
OAME SHEA HE= 1,350
— e SEA 2 300,000& * 14 300
— & A BE=el 350,000& = 3A 1,050
NHYsALE K& 143,500 163,900 220,400
402 RI2HXt20l 143,500 163,900 220,400
01 212t 2 AL E = (REM ) 143,500 163,900 A 20,400
OBFASH BIRY X2
40,000& = 100& = 0.5 2,000
ORA 2FHN XA
30,000& = 3,000str * 0.5 45,000
O s(RFEXNM, HFAEMEM) X
60,000& = 1,000& * 0.5 30,000
Ods 27 XA 15,000,000& = 104 = 0.5 7,500
OHEdEII(&#E01) X
3,500,000& =« 4CH * 0.5 7,000
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OF8 =RJ| A4 Nss X
32,000,000& = 104 = 0.5 16,000
ogas=J XA 5,000,000& = 201 = 0.5 5,000
O&0HK 22RI| XN&
32,000,000& = 1 * 0.5 16,000
Og&EEXI XN&  30,000,000& = 104 = 0.5 15,000
stnesagal NH 107,500 99,330 8,170
J| 64,500
< 12,900
s 30,100
307 21201 A 107,500 99,330 8,170
J| 64,500
< 12,900
s 30,100
02 It M AHE L 107,500 99,330 8,170
Otz a XA 430& x 1,000F » 250 107,500
J| 64,500
< 12,900
s 30,100
RASHMSAMS 12,551 12,551 0
< 2,352
s 10,199
402 RI2EX20l A 12,551 12,551 0
= 2,352
i 10,199
02 LA TEALEZ(0IETHR) 12,551 12,551 0
OtRssEZE ALY 64,8008 * 2455 * 0.3 4,763
< 794
[ia 3,969
Osgie At 7,788,000 7,788
< 1,558
i 6,230
S=sdH XNJAS 30,000 30,000 0
= 12,000
s 18,000
307 glz2tol & 30,000 30,000 0
< 12,000
s 18,000
02 It MAMHEE 30,000 30,000 0
Ods ¢l X&
2,500,000& = 2H » 128 * 0.5 30,000
< 12,000
s 18,000
LSS FH () 145,750 125,750 20,000
402 2I2H X201 M 145,750 125,750 20,000
01 2IZFH 2 A B (RERTH ) 145,750 125,750 20,000
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Ogs=sIt LI XA
3,800,000& = 3CH * 0.5 5,700
o=t AsHLI XA
2,000,000& =301 +0.5 3,000
OxssIt XHEelZE XA
4,700,000& =3CH=*0.5 7,050
oOxsslt 2z XA
2,500& = 12,000& = 0.5 15,000
oOxssIt stz XA
8,000& = 13,750kg = 0.5 55,000
OxEs=sIt 2RI Mz X&
15,000& = 8,000% * 0.5 60,000
LSAH AN AL 47,450 54,475 AT,025
< 18,980
= 28,470
402 QI2H X201 M 47,450 54,475 AT,025
< 18,980
= 28,470
02 QI 2 AL EZ (O THE) 47,450 54,475 AT,025
Ogs=sIt €8 XA
50,000& = 1,400 = 0.5 35,000
< 14,000
[ia 21,000
o=t M2M&n XA
6,000,000& = 304 = 0.5 9,000
< 3,600
s 5,400
oxssot g0 XA
1,000,000& = 3CH *0.5 1,500
< 600
s 900
Ot AL2 &Il XA
1,950,000 = 2CH = 0.5 1,950
< 780
s 1,170
=2 & JIEIH=E N 12,816 13,176 A 360
402 RI2EX 20| ™ 12,816 13,176 A 360
01 2I2F 2 A B (RERTH ) 12,816 13,176 A 360
oaAss =HoE ME XA
20,000& = 72000 = 0.6 8,640
omass €3I XA
180,000& * 240H * 0.6 2,592
Oomzass &I XA
110,000& * 240H * 0.6 1,584
L&l LEet 1,217,520 1,318,162 A 100,642
101 @124l 628,320 618,862 9,458
M4 JI2ZHZEXNSES 628,320 618,862 9,458
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201 L2l 296,000 312,100 A 16,100
01 At 2t 2l 37,200 43,300 26,100
Oget=&H| 25,500
— A 200,000& = 53| 1,000
— ZH Yz 300,000& = 53] 1,500
—MEIE ANEBE=E 1,500,000 * 14 1,500
— 33 22HS F
200,000& = 12& 2,400
—SEFNCIUS BAAMEST 7Y
1,000,000 * 14 1,000
—EIEIL 2esF 2
1,500,000 * 14 1,500
— ST Zelliet AAs4A 22U E
300,000& = 123 3,600
—SEFCI U LEFAH ME
100& = 50,0000H 5,000
—YgIZ=ZAH g2 2¢ 400,000& = 5CH 2,000
— &= N 50,000& = 203l 1,000
—EJdE 23 50,000& = 504 = 12& 3,000
— S22 EF HMH 400& * 5,000% 2,000
Ooul=l 200,000& = 304 6,000
o234 5,700
— 2y 50,000& = 18 = 114« 5,700
02 =224l 258,800 258,800 0
02322 %2 HA 199,080
—dIIReRa 15,000,000& * 12& 180,000
EaRA el B = 1,500,000 = 12& 18,000
— QY & S 23 90,000& = 123 1,080
OFJIGHBRAYAD o442
2,000,000& = 12& 24,000
OAgoERRIYD (asc2
500,000& = 12& 6,000
OSUABIAIAE 89 242
500,000& = 12& 6,000
O8Il X2 89 =82
180,000& » 12& 2,160
O2sHelAld &2e =8
1,000,000& = 12& 12,000
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—O0FJI, =82 S KX 22t
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— 248484 KA2eldl  230,000& « 123 2,760
202 Odl 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
ORZZER2ILiet gRFA
150,000& = 49 = 128 7,200
206 M= Hl 156,000 200,000 A 44,000
01 =8l 156,000 200,000 A 44,000
OfZ FXtel Let 23AME M7
50,000,000& = 14 50,000
OSZ FXel tet dAME 835 ME 2
100,000,000& * 14 100,000
OXNEF8 ASHAMNY 257
6,000,000& = 14 6,000
301 LA F 60,000 60,000 0
12 J|EtE4 = 60,000 60,000 0
OFgAZLETA X2 2,000& = 30,0000H 60,000
401 Al HIZ 201 I 50,000 100,000 A 50,000
01 A& HI 50,000 100,000 A50,000
ORI ZR2l Liet Al E=
50,000,000& * 14l 50,000
405 XHoHF S HI 20,000 20,000 0
01 AL EZFH S 20,000 20,000 0
OSZ FZAel Lt weedd ¢
5,000,000& =« 4CH 20,000
gl ANSUE X 140,000 138,000 2,000
< 12,600
[ia 127,400
307 2201 A 140,000 138,000 2,000
< 12,600
s 127,400
04 DIZHHALALSE E X 140,000 138,000 2,000
OF= IxAMSUs XA
140,000,000& * 13l 140,000
< 12,600
s 127,400
NEE 24y 84 105,458 99,558 5,900
< 21,826
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307 glz2tol & 20,000 20,000 0
J| 10,000
< 3,000
s 7,000
02 P HAMHEE 20,000 20,000 0
ORAUSOIE 2N
20,000,000& * 1JH A 20,000
J| 10,000
= 3,000
s 7,000
St HAASE ASHEIM(AAMEH) X 33,930 37,008 A 3,078
< 11,310
s 22,620
402 2I2H X201 M 33,930 37,008 A 3,078
< 11,310
s 22,620
02 QI EALSEZ (01X TS ) 33,930 37,008 A 3,078
O=F4tsIt A2 &I X &
30,0004 = 1,885% = 0.6 33,930
< 11,310
[ia 22,620
bz datd ghah 2 AR E X3 A 40,000 13,640 26,360
< 10,500
s 29,500
402 QI2H X201 M 40,000 13,640 26,360
< 10,500
i 29,500
02 QIZEH 2 A EZ (OIS ) 40,000 13,640 26,360
OAIXtEE M LHE X
80& = 375,000 = 0.5 15,000
< 3,000
s 12,000
Oo0latet(get) &0 A&
50,000,000& = 1# = 0.5 25,000
= 7,500
s 17,500
NANHLRH (RIS Fot DBES AY) 200,000 1,663,000 1,463,000
s 200,000
401 AIEHI L 2CHEI 200,000 1,663,000 A 1,463,000
s 200,000
01 A& Bl 200,000 1,663,000 A 1,463,000
ORE=s =H 2243 AFY 200,000,000 200,000
as 200,000
Tetd SEAMY XA 17,764 22,800 A5,036
< 5,329
s 12,435
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402 BI2FX=01 M 17,764 22,800 25,036
< 5,329
s 12,435
02 QI EASEZ (01X ) 17,764 22,800 A5,036
Ozgd 2 At X
8,000& =* 4,441kg * 0.5 17,764
< 5,329
s 12,435
A et K& AHS 82,300 68,000 14,300
307 2I2H0I A 42,300 0 42,300
02 It S AHE L 42,300 0 42,300
Ostse XA =l X
30,000& %1,500%+0.5 22,500
Oos&ada 2FEXI XA
220,000& 3005 0.3 19,800
402 RI2EX20| ™ 40,000 68,000 A28,000
01 2I2E 2 A B (REM ) 40,000 68,000 A 28,000
Oste=sJt fetet XI&
5,000,000& = 10& = 0.5 25,000
OstesIt As 2 206I N2
300,000& = 1000H * 0.5 15,000
AFEZSMSAE XAY 20,500 42,600 222,100
< 4,920
[ia 15,580
402 RI2HXt20l 20,500 42,600 222,100
< 4,920
[ia 15,580
02 It 2 AL EZ(OI XM THS) 20,500 42,600 A 22,100
Ox2saAdAx=) XA 5,000,000& =20 0.5 5,000
= 1,200
e 3,800
O=s4dgIl XA 3,000,000 =1CH* 0.5 1,500
< 360
[ia 1,140
O=2sM2MdED N
10,000,000& =2CH* 0.5 10,000
< 2,400
[ia 7,600
O=23 dgt X2 400,000 *20CH= 0.5 4,000
< 960
fia 3,040
3=t N3 AS 39,000 9,000 30,000
402 QI2H X201 M 39,000 9,000 30,000
01 2I2E 2 A B (KM ) 39,000 9,000 30,000
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O&HH A HIAF 2R ZE H2+I] X
6,000,000& = 3set * 0.5 9,000
O=|H =It LeD &7 X&
10,000& = 6,0000H * 0.5 30,000
stesIJ €l X& 8,500 30,000 A 21,500
< 2,550
s 5,950
307 gl2tol & 8,500 30,000 A 21,500
< 2,550
s 5,950
02 IZtE M AHE L 8,500 30,000 A 21,500
Oste=sJt € XA
100,000& = 1708 * 0.5 8,500
< 2,550
s 5,950
S dagr 2= 7,500 0 7,500
< 1,500
s 6,000
307 gl2tol & 7,500 0 7,500
< 1,500
s 6,000
02 It M AHE L 7,500 0 7,500
OSzes MauJIg 15 X &
300,000& = 25 = 1.0 7,500
< 1,500
s 6,000
2EsIH OI4FEE HE A 60,000 0 60,000
402 RI2FXt20l M 60,000 0 60,000
01 212t 2 A E = (REMTH ) 60,000 0 60,000
Ogd=EsIt Old=E8 HAXE ALY
8,000,000& = 1504 * 0.5 60,000
FUZREE d7E NIHHHEANZ SHAIAE JI= 100,000 0 100,000
Al
= 50,000
s 50,000
402 RI2HX=20| M 100,000 0 100,000
= 50,000
s 50,000
02 QI EAILEZ (OIS ) 100,000 0 100,000
ORUZXEE E§RF NIIHEAMZE SHAIA
g XA 100,000,000& * 1JH 2 100,000
= 50,000
i 50,000
tsgoed XA 3,765,026 3,612,612 152,414
= 924,758
J| 163,925
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== 12,000
s 48,000
=Y eEsts XA 204,560 204,560 0
< 40,912
s 163,648
206 M= Hl 204,560 204,560 0
< 40,912
s 163,648
01 M= 4l 204,560 204,560 0
ORA R LAY S(78)
204,560,000 204,560
< 40,912
s 163,648
SESIH dZE WA 20,000 15,580 4,420
< 4,000
s 16,000
206 M= Hl 20,000 15,580 4,420
< 4,000
[ia 16,000
01 =8l 20,000 15,580 4,420
OZE=sI g8 Hgxs5 N
2,000& = 10,000 20,000
< 4,000
[ia 16,000
SOHNEALE As8E K& 28,000 33,250 A5,250
< 5,600
i 22,400
206 M= Hl 28,000 33,250 25,250
< 5,600
s 22,400
01 =8l 28,000 33,250 25,250
OSOHXEAE AlKAH K&
35,000& * 8005 28,000
< 5,600
s 22,400
SHMsI 2E8H HIOI2 MedAE 12,200 12,500 A 300
= 3,660
s 8,540
201 Let24dH] 12,200 12,500 A 300
= 3,660
s 8,540
01 At 22/l 12,200 12,500 A 300
OZZd SSMA dHE HMel ==2
250,000& * 375 9,250
< 2,775
[ia 6,475
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= 10,000
= 10,000
402 BI2H X201 M 80,000 0 80,000
= 40,000
= 40,000
02 QIZEXIEAIS EX (0| XM THL) 80,000 0 80,000
Otz 88 58 22 H MHIYX =4AHE
80,000,000 80,000
= 40,000
= 40,000
s=XE Jletx A 800,000 0 800,000
g 400,000
= 120,000
= 280,000
401 Al HI L 204 HI 800,000 0 800,000
g 400,000
= 120,000
= 280,000
01 Al&H| 800,000 0 800,000
SS0M= A g2da
800,000,000& = 1A 800,000
= 400,000
== 120,000
= 280,000
SEMNMEO &gt 609,920 892,170 A 282,250
= 25,000
& 99,500
= 485,420
SHAS AN 95,320 100, 320 A5,000
o= 1,500
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MM SEXC A
Sl sEMEO 23 (S &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 93,820
202 04| 4,320 4,320 0
01 2L HI 4,320 4,320 0
OMERS 2= 120,000€ * 3% x 128 4,320
307 QI2t0| & 30,000 30,000 0
02 QI2tAAMAIE E =X 30,000 30,000 0
O50l SootE AIBES AlY
30,000,000 * 1JH 30,000
401 Al HI L £ 0HHI 61,000 66,000 A5,000
= 1,500
= 59,500
01 Al& B 61,000 66,000 A5,000
SXNUHE WP A M7
5,000,000& = 1JH A 5,000
& 1,500
= 3,500
Os&HEH Olsal &4 A
4,000,000 = 1404 A 56,000
METIA IR H 2 SZ2E0HE 4 163,600 196, 850 A 33,250
201 2Et24Hy| 29,000 54,250 N 25,250
01 AP 2t 2] H| 27,000 54,250 N27,250
Ogte=2H| 1,000
~ DA 2EE H#29 YA
50,0008 = 20= 1,000
osd44 24,200
—SHMEINNMS WHE2ULISHE 2ASE
200,000€ = 140159 * 43| 11,200
—SENEEI DY LEHSHE AR
200,000€ = 2JHH&E = 103] 4,000
— MENSH)| =R LA
200,000& * BOHIHAE = 23] 2,000
— XIOH Ol 2t el AF Kb DA B 2ARE
300,000 * 1JHHA = 103 3,000
—SFESA! O2HMI0l ] ZAIEE
200,000€ = 1JHHE = 103] 2,000
—220Y 18 BALL
200,000€ = 1JHHE = 103 2,000
oYxtz 1,800
—MEIHSE S - CUHIEASE =SS
900,000 * 1CH = 23] 1,800
02 222%4| 2,000 0 2,000
OsgdolnsEs Xelass =448 |
2,000,000& 2,000
206 M = dl 50,400 50,400 0
01 X2 bl 50,400 50,400 0
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PSRN o—’F—IIE/\FO*
ol sEMEO B (el @2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OsEd&8UMuns M2
10,000& = 50 =« 43| 2,000
OSHMUEINHE &3] W
10,0003 = 500 = 23| 10,000
OXclass 28I & A58 M
5,000,000& = 14 5,000
ORg3MH2s UHWE MHE
20,0003 * 20 * 63| 2,400
OSESAOIHION e M=
20,000& = 30 = 103l 6,000
O&E=ge s8I Ns M
20,0003 = 50H « 13l 1,000
OSHUENHIINNMILE AdSHE
10,000& = 49_| * 308 * 144 2 16,800
OEESAAHIS WHWE ME
10,000& = 30H =« 43| 1,200
OXIOHOI & 2telAF At UFE HE
10,000& = 30H = 103l 3,000
O=30lgr s ME 10,000& » 30F * 103l 3,000
301 LEAS 19,200 17,200 2,000
09 HALAHIX RS 19,200 17,200 2,000
Odagtns)|sns 424
30,000& = 10¥ * 63l 1,800
OdEINHe SBezlus &84
8,000& = 650 * 23| 10,400
Os&E0d & -s2dHAnNs 424
50,000& = 509 = 23] 5,000
OMElls 2ZeHus EMBA
5,000% * 40Y« 23| 2,000
307 glz2tol & 65,000 70,000 25,000
02 RIZFE MM E X 65,000 70,000 A5,000
OMEINNLE HEISOt2 &KL
5,000,000& = 1043l 5,000
OMafsds s&8KF  30,000,000& = 103 30,000
Ong3udzs s4X&
10,000,000 = 1JH3l 10,000
OXNEIss sMAHIRS
20,000,000 = 1JH3l 20,000
sEMgzasa4s 49,000 7,000 42,000
< 21,000
s 28,000
307 21201 A 49,000 5,000 44,000
< 21,000
[ 28,000
02 UAFLAFEX 49,000 5,000 44,000
OSZUSST SLANHAY
20,000,000& * 0.7 14,000
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M sEXNEZAY
Sl sEMEO s
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
< 6,000
s 8,000
OsEdEg32 83Me Adg
50,000,000& = 0.7 35,000
< 15,000
e 20,000
HESESANIALS 70,000 70,000
307 gl2tol & 70,000 70,000
02 IZtEHAHE L 70,000 70,000
OFESESAZHUS K&
70,000,000& = 13l 70,000
A=2g oEsE oMol AEAY 50,000 50,000
= 25,000
[ia 25,000
307 21201 A 50,000 50,000
= 25,000
= 25,000
02 It M AHE L 50,000 50,000
ON=Y ¥EY A2 AHAY
50,000,000& * 1JH A 50,000
= 25,000
s 25,000
sELSESNR 32,000 32,000
201 Let24d] 6,000 6,000
01 At 22l 6,000 6,000
ozg=4¢ 6,000
— 024 MERNRE 2E TAME
300,000& * 1OHE = 103 3,000
— 024 RanA 29 ALY
300,000& * 1OHE = 103 3,000
206 M= Hl 6,000 6,000
01 = Hl 6,000 6,000
O0z24 MeAnns 29 M=
300,000& = 1t&E = 103l 3,000
Onz2d elud 298 M=
300,000& » 1t&E = 103l 3,000
307 gl2tol & 20,000 20,000
02 IZtE M AHE X 20,000 20,000
Os&ke dEXz0ts XA
10,000,000& * 200 £ 20,000
SENEN SNAF(MEAY) 100,000 100,000
< 65,000
s 35,000
307 21201 A 60,000 60,000
= 39,000
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SIS dH

M sEXNEMS
o9l sEMBO B CERED
SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
o 21,000
02 It M AMHEE 60,000 60,000 0
OsZE02d EsXaE Mg
30,000,000& * 20 2 60,000
< 39,000
i 21,000
402 RI2EX=20l A 40,000 40,000 0
< 26,000
s 14,000
02 QI EAILS EZ (01X S) 40,000 40,000 0
OsZE02d EsXadE AMd
20,000,000& * 20 2 40,000
< 26,000
e 14,000
S&HY THoHME eHMI|l=s S 5,000 5,000 0
< 1,500
s 3,500
307 glz2tol & 5,000 5,000 0
< 1,500
s 3,500
02 It M AMHEE 5,000 5,000 0
OsHGMHoLAMI =SS
5,000,000 * 104 5,000
< 1,500
e 3,500
MEZBXH 45,000 0 45,000
< 10,500
s 34,500
201 LB-2dH| 30,000 0 30,000
< 6,000
[ia 24,000
01 At 2t 2l 30,000 0 30,000
O e8| 30,000
—MEIHH3 BEX XA 60,0008 * 5008 30,000
= 6,000
s 24,000
206 M= Hl 4,000 0 4,000
< 1,200
s 2,800
01 =8l 4,000 0 4,000
OU=SHLYSH LI 2 500,000& =« 8CH 4,000
< 1,200
[ia 2,800
307 21201 A 11,000 0 11,000
< 3,300
i 7,700

_88_




AN seIIsHE

M sEXNEZAY
Hel: sEdE9 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 11,000 0 11,000
OsEld =58 d2sgiie N&
4,000,000& 4,000
< 1,200
e 2,800
OXY s=0&2H BETS K
7,000,000& 7,000
< 2,100
fia 4,900
ol - EX DFE M 5,756,132 3,279,354 2,476,778
= 663,799
J| 24,781
< 828,264
s 4,239,288
oS DZE M) B2 25,864 25,838 26
101 14 Hl 1,744 1,718 26
04 JIZHHZ2XNHEE S 1,744 1,718 26
OXNEEsazs SEHAAMN &0
69,7603 * 5% = 53] 1,744
201 Let24d] 7,560 7,560 0
01 At 22/l 7,560 7,560 0
Oget=gH| 5,000
— &4 Ots,. 2t 822 M
250,000& *» 103 2,500
—0Ot=s, 2ot =W M
10,0002 * 250 2,500
Oogxs 2,560
—JUHS Moisot &KX At
880,000& = 23l 1,760
—JUAES "ot & Ax Yt
800,000& = 13l 800
202 44l 5,760 5,760 0
01 S LHOYI 5,760 5,760 0
OANBENSEMAIIsES
120,000& » 4% » 128 5,760
203 YR =& 2,000 2,000 0
03 Al =AY 2= 2,000 2,000 0
OLMiMA SRS L HHMMARER
100,000& * 103l 1,000
OANMEA MAD=23 H2FA
100,000& = 103l 1,000
206 M= Hl 2,000 2,000 0
01 MHZ 8l 2,000 2,000 0
OXYEstasE g2MHE 20,000& = 1004 2,000
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301 LEHZ 4,800 4,800 0
09 HALAHIX RS 4,800 4,800 0
Olt=¢ 23 Ws &4 B4
8,000& = 75%H =« 23| 1,200
O3 s &4 B4
8,000& = 75%H =« 23| 1,200
OANEHAT s & & X ASt
30,000& = 40¥ = 13/ 1,200
O ST SOt HTK 28
30,0003 = 40¥ = 13 1,200
308 A EHHSOIA 2,000 2,000 0
07 IXNHMAR S = 2,000 2,000 0
OFIMISELMC BAFS 2y
2,000,000& = 13l 2,000
SHZO0F MIUXNZBZAEXE 140,837 68,876 71,961
= 74,199
< 19,991
[ia 46,647
402 RI2EX20| ™ 140,837 68,876 71,961
= 74,199
= 19,991
s 46,647
02 It 2 AL EZ (OIS ) 140,837 68,876 71,961
Ol XIE2Z 179,593,000& * 0.5 89,797
= 35,919
< 16,163
e 37,715
O &I TH A8 0il LA X 63,800,000& * 0.8 51,040
= 38,280
< 3,828
s 8,932
ANEANSEUS X (RUEE) 6,655 38,012 A 31,357
J| 2,662
< 1,198
[ia 2,795
402 RI2EX20l ™ 6,655 38,012 A 31,357
J| 2,662
< 1,198
s 2,795
02 22t 2 AL EZ (01X TH ) 6,655 38,012 A 31,357
OLEHAUAIE 6,655,000& 6,655
J| 2,662
< 1,198
i 2,795
ANERN Jis2s 787,040 819,330 A 32,290
402 RI2HX=20l M 787,040 819,330 A 32,290
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01 2IZEH 2 A B (KR ) 787,040 819,330 A 32,290
O== ZIIMU &X=2d X3 A 215,000
— LWMAIL 100H 2 * 40,000,000& = 0.5 200,000
—3SEED 141« 30,000,000& * 0.5 15,000
OAMEZ 30 MACK ELHL XJA
165ha * 1,800,000& = 0.5 148,500
OAMEMA D2) 2502 XNEAY
5J4 4 * 20,000,000& = 0.5 50,000
OANEZNF= =82 XA
5002 * 120,000& = 0.5 30,000
OAEoIRA 208 228 XA
11,000,000& * 200H£ * 0.5 110,000
OFE=z EltE 2y N&
60,000& = 3188 = 0.5 9,540
OAEotRA FII4 HE XNEAY
100,000m » 2,600& * 0.4 104,000
OAdoteA M N&
12942 * 20,000,000& = 0.5 120,000
SR =23 1,591,076 907,385 683,691
402 RIZ2EXH20| A 1,591,076 907,385 683,691
01 2IZEt 2 A B (KM &) 1,591,076 907,385 683,691
OFdlts &S HAUHA 2SS MY
250,000,000& = 402 = 0.5 500,000
Ob0ts2d=A4 &X XNFAY
4,000,000 = 100HZ = 0.5 20,000
OFE0ts ST UMY
100,000& = 6,000% * 0.5 300,000
Olts SMMSRsY UH XA
30,000& = 300ha * 107K =0.5 45,000
OJ30EZS GAPTHEI = It X1 & At
3,000,000& = 90ha = 0.5 135,000
OXNGEseX Z&TH XIJ A
5,000,000& = 8ha = 0.5 20,000
OO0ts HMelZol &M XA
30,000& = 67ha * 104 = 0.5 10,050
OBYA Ots AZEX XA
2,400,000& = 1000z = 0.5 120,000
OZFOtIHEE AlE s |4 X3 A
1,000,000& * 700H £ 70,000
O0ts AZZH AXMLH XA
45,0003 = 105ha * 2004 = 0.5 47,250
Onr A=ZH AIMEH XEAS
45,0008 = 1,560 = 0.5 35,100
OLMAIEHX TS S X =LA
e 10,000,000& * 6ha * 0.5 30,000
Ot IUSE UES E2 UMY
90,0002 *(560,340m /330m ) * 0.5 76,410
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Ot MelZol &M XA
45,0003 = 82.7ha » 2000 * 0.5 37,215
Ol Holls 3 XA
212,100& = 60ha » 23| * 0.5 12,726
Olts, &0t EW XA
25,0003 = 15000 = 66002 * 0.5 123,750
OLNZE BEFHH NFAE
2,450,000&* 74 « 0.5 8,575
DUt THEHAIE XI & 40,000 29,500 10,500
J| 16,000
< 7,200
[ia 16,800
402 2I2H X201 M 40,000 29,500 10,500
J| 16,000
< 7,200
s 16,800
02 QI E2ALEZ (OIS ) 40,000 29,500 10,500
ODZ=HIJLE THEHAI &
20,000& = 4,000m = 0.5 40,000
J| 16,000
< 7,200
s 16,800
HHZ0F ICTEESE XA 12,239 30,020 A1T7,781
J| 6,119
< 1,836
s 4,284
402 QI2H X201 M 12,239 30,020 A1T,781
J| 6,119
< 1,836
[ia 4,284
02 QI E2AIE EZ (OIS ) 12,239 30,020 A17,781
OADER ICT SSEEHMAS(MEES)
20,398,000& * 0.6 12,239
J| 6,119
= 1,836
s 4,284
NAEASESIIBEL(0ISRES2SA) (ALY 200,000 0 200,000
)
< 130,000
i 70,000
402 RIZEX 201 A 200,000 0 200,000
< 130,000
e 70,000
02 LA TEALEZ(0IETHR) 200,000 0 200,000
Olts 2YE7 AR JIUPEAY
10,000,000 = 200H & 200,000
< 130,000
[ia 70,000
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Ol=, &0 Xel&EEAXM 64,000 64,000 0
206 M Hl 2,000 2,000 0
01 XHZ Hl 2,000 2,000 0
OLIIXSIEEANMN EBEME 1,000, 000& 1,000
O0tsXelZEAMN E28ME 1,000,000 1,000
301 et M= 2,000 2,000 0
09 #HAIAHI XIS 2 2,000 2,000 0
OSMAeIEEAM s & 23
500,000& * 23| 1,000
OOtsXNelZEEAMd s & 93
500,000& * 23| 1,000
402 SI2FXHE0| ™ 60,000 60,000 0
01 It EANS EXR (M) 60,000 60,000 0
OltsXelZEEAN s T3 MEXRH
160 = 375,0000f = 0.5 30,000
OSMXeIEEAMN s22 ZT&3M MEXR
1502 = 400,00008 = 0.5 30,000
sHAMISAE(KFUHES) 160,000 75,000 85,000
= 80,000
o 80,000
402 12t X0l & 160,000 75,000 85,000
= 80,000
o 80,000
02 X2 A E X (0| & THS) 160,000 75,000 85,000
OLEMA Z2UHESHES B2 AIYEAMY
60,000,000 * 1JH 60,000
= 30,000
= 30,000
OO0lAIIA IS AWAZ HEMA IS A HAL
& 100,000,000 = 1JH A 100,000
= 50,000
= 50,000
THASMAOHY XA ALS 1,309,486 916,793 392,693
&< 392,845
= 916,641
307 QI2t0| ™ 1,309,486 916,793 392,693
& 392,845
= 916,641
02 AI2tAAMAIE E =X 1,309,486 916,793 392,693
OOts JIHCHE XA
4,413& * 6,268,290kg * 0.15 = 0.3 1,244,789
= 373,436
= 871,353
Ot JIAHCHE XA
637& * 2,257,000kg * 0.15 * 0.3 64,697

_93_




D sgllsdH
P SENEZAY

DAY - ER DEZ
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SN EE B (BH) - HRAY - BES e Hl D= 2t
< 19,409
s 45,288
AQEE HH4Y HAHEH X 3AAY 24,000 36,600 A 12,600
= 9,600
s 14,400
201 LB-2d| 1,400 2,400 21,000
= 560
s 840
01 At 22| 1,400 2,400 A 1,000
O e8| 1,400
—ADEE AoY HINY 25 PY
1,400,000& 1,400
= 560
s 840
202 o4dl 1,400 2,400 21,000
= 560
i 840
01 240t 1,400 2,400 A 1,000
OALE [ERSPNR] 1,400,000 1,400
= 560
s 840
307 2201 A 21,200 31,800 210,600
= 8,480
s 12,720
02 It M AHE L 21,200 31,800 A 10,600
OMHIAIE 201 E2LE K&
7,200,000 7,200
= 2,880
s 4,320
OL= ICTIIDI EZ A X 12,000, 000& 12,000
= 4,800
[ 7,200
Ogldlolg HEH X2 2,000,000 2,000
= 800
s 1,200
M4 DEF 269,935 253,000 16,935
< 90,694
s 179,241
402 RI2HXt20l 269,935 253,000 16,935
< 90,694
s 179,241
02 BIZ2HA+= [ &) 269,935 253,000 16,935
O 44 S Slgt LU JIHFA I
=AY 50,000,000& * 102 » 0.8 40,000
< 15,000
[ia 25,000
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=
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20,000,000& = 0.8 16,000

6,000
10,000

M H

Sa X

241,334,000& * 0.5 120,667
36,200
84,467
OL) SEI=(FR)XE 247,000& 247
74
173

M H

M

OANEHA ()T N

0,000 * 298& Xt = 0.5 7,450
2,235
5,215
O®EIIEI X XA 20,413,000& 20,413
7,655
12,758

EUNE

VR

OAE20 AFHHBZH X
90,000& = 1HA = 0.5 1,995
598
1,397
OStaI M AAIE & O3t 79,660,000& * 0.5 39,830
15,932
23,898

w
«©

UL

Mo

OAN&soteA HEISEE N

2,600 = 22,435m * 0.4 23,333
7,000
16,333

Mo

o= dols oZE 2 LM Al 15,000 15,000
4,500
10,500

Mo

201 LEt2 A | 4,000 4,000

1,200
2,800

Mo

01 At 2teltl 4,000 4,000

OMAZE Ealis 4,000,000& 4,000
1,200
2,800

Of
H
THo
Ot

EUNL

202 Oddl 11,000 11,000

3,300
7,700

M

01 =LHOIHI 3,000 3,000
OZ0=Z golls tzE & X X
3,000,000 3,000

900
2,100

04 =H =04l 8,000 8,000

oo

M
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OJM&Z2 Yolls &2 M2 dx=2g)
4,000,000& = 2H 8,000
= 2,400
= 5,600
SNE =308 XA 210,000 0 210,000
== 60,000
= 150,000
307 2Iz2t0| & 210,000 0 210,000
= 60,000
= 150,000
02 DIZFEAAIRE E X 210,000 0 210,000
OsdE =308 XS AY
8,750,000& = 40ha * 0.6 210,000
= 60,000
= 150,000
gAE 2SI LAY 900,000 0 900,000
= 500,000
= 120,000
= 280,000
402 BI2H X 20| M 900,000 0 900,000
= 500,000
= 120,000
= 280,000
02 QIZtXIEAIS E X (0| XM THL) 900,000 0 900,000
OIS ZES2IAH SHEAIL(1EX})
150,000,000& = 1o « 0.9 135,000
= 75,000
= 18,000
= 42,000
Oe&E Z2=HIAH SHEAMHY (28 )
850,000,000& * 1o = 0.9 765,000
= 425,000
&< 102,000
= 238,000
DAt A SEA 5,054,595 5,151,060 N 96,465
= 151,510
J| 42,500
= 1,633,068
= 3,227,517
Y-S MAI|BEXT S 482,325 662,200 N 179,875
201 et 4,800 4,800 0
01 AFSR 2t 2| bl 4,800 4,800 0
Ogbtx=24| 2,000
~ BASHAASH B0 SE 7Y UL A
= 4 000& = 1008 * 5& 2,000
o29sd 1,000
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— U+ 222 978 U5 JALG
200,0008 * 5% 1,000
oyxtz 1,800
~ HYoLHs HAX A Y3
900,0008 * 1CH 900
~ % B2Y 7s HEX A& AX
900,000% * 1CH 900
202 01t 4,320 4,320 0
IERTEL 4,320 4,320 0
ODSSH I£23 120,008 * 38 * 128 4,320
301 YBHFHB 4,080 4,080 0
09 & AbAIHIXI 3 4,080 4,080 0
OBUHLAPE RIBLT L4
8,000 * 90 * 43l 2,880
O+ B2% oi7s HXX 28 P
30,0008 * 40% 1,200
402 DIZHXH2 0] & 469,125 649,000 A179,875
01 QIZER 2 AL & (RHAI T2 ) 469,125 649,000 A179,875
OZES2AMP5 S48 200,000,008 * 0.5 100,000
OFEDA YESAY 170,000,008 * 0.5 85,000
O+ HIYE SIS X
3,000,0002! * 20KIE * 0.5 30,000
OULS=S 54 50,000,008 * 0.5 25,000
Oolgn===23 w4 80,000,000& * 0.5 40,000
OMMMIHSE S48 24,000,008 * 0.5 2,000
OFYYBLANT 4
50,000,008 * 0.5 25,000
Ol% |ZE+ UHLX X
75,000,008 * 0.5 37,500
OZZME o2 TUSHES 22AY
29,250,002 * 0.5 14,605
OHA STt ZWS HDAY
200,000,008 * 0.5 100,000
SXSWHLE X 4,000,000 4,000,000 0
= 1,556,000
[ia 2,444,000
307 212+0| & 4,000,000 4,000,000 0
= 1,556,000
2 2,444,000
06 283 4,000,000 4,000,000 0
OSHSMH SHINY AL
4,000,000, 0002 4,000,000
= 1,556,000
2 2,444,000
DADEIAIL S AY 92,500 125,000 £32,500
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38,850
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38,850

S

M
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